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“The premises of an inductive inference offer certainty for the truth of the

conclusion.” — Is 1t true?

SIS SR SIERERTE e TR 6Tl ARE 17 — G206 A ?

Which of the the following statements is true ?

RS (FE0! O 7o) 2

(i) The law of causation is a material ground of induction,

FEEe [E tare e IEes fofe |

(ii) Observation and the law of causation are the formal grounds of

induction.
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(iii) Observation and experiment are the formal grounds of induction.

R ST<e AP (202 T SRS [ofe |

(iv) None of the above statements is true.

QAT (I OB BfeEs 7oy 757 |

“Observation is finding a fact and experiment is making one.”” — Who did
say this statement ?

“REFEe a0 WOAIN SN S SIS (20g WoNE R — @3 SfEE (@I
Cpfest 2

Which one of the following statement is incorrect ?

ARG (PG Ofe S 2

(i)  Observation is a perception with a definite purpose in view.
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(ii) Observation is a perception of natural events.

FRrTe (20 AFieT BT eSS |

(iii) Observation is not a perception of events under natural conditions.

e eligpfos AR Tee +1 I o 2P |

(iv) In obscrvation, the natural events are not fully under the control of the

observer.

Ffiers el SR AR s o7l et e |

(e) Which is the last stage of hypothesis suggested by Mill’s definition o

hypothesis ?

ﬁﬂ%mﬁﬂi@fﬂﬂ?@ﬁmmﬁm%?

(/) What is the meaning of the condition of ‘testability’ of a valid hypothesis

G5l T34 =eEe SISl 56 (6N wef 552
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(¢) “When heat is applied to ice, then ice melts. When heat 1s not applied to ice,

then ice does not melt. Therefore, heat is the cause of the melting of ice.”

Name the experimental method employed in the above argument.
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(h) “The possibility of the doctrine of the plurality of causes cannot frustrate the

method of agreement.”” — Is it correct ?

T @WWWW@%@@ el e F R TR — B W ¢

(i)  Who among the following philosophers is not an idealist ?

woTe SRl nRERITEE feee (RIS SRAIT 753

() Berkeley
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(i11) Bradley
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() Name the philosopher associated with the statement — “Thought and Reality

are at bottom identical”.

“fgw) e TGl AR wfoy” — 3 SGOR 1979 s wRlfE-aERE e =
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(k) What is the meaning of the Latin word ‘Religare’ ?

@6 SR ‘Religare’ wrroie ol &5

() Mention any one similarity between Religion and Morality.

o i (AToTeR ers A R 51 e B P

State two points of difference between deduction and induction. 1x2
o ST ST eSS 71 22y Sy
ek

- 3. Define bad analogy with suitable example.
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4.  State any two characteristics of analogy. 2
) gy

APEIRERE SRS Riceiea 767 tafey Sreme |

5. Define material cause with an example. ' : 1+1=2

TURITE Soflwle SReE Feee] T |

6.  Briefly explain any one criticism against Mill’s paradox of induction. i
e enaFE Reiarerm feoa R b siEsa B AR ] |
Or / 2] .

. Why Mill’s paradox of induction is said to commit the fallacy of petitio principii

or fallacy of arguing in a circle ? : 2

feTe Sisee Reiarerts 51 s o 961 36 el 0

7. What do you mean by a working hypothesis ? 5 2

RS @ s & oge e
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8. Briefly explain any one condition of a valid hypothesis with the help of a suitable

example. _ : ¢

Sl THIZEN RIS (Y e R @5 55 FICE AN

9.  Why do some logicians regard the method of agreement as a method of single

agreement ? ;

'WWW@W%?&@@M@{%WW%

10, Give a concrete example of joint method of agreement and difference.

Rt e e | ISRCI R Twigge |

11. What are primary qualities ? Give example. Ll

2y el A 52 Twizsel |

12. Briefly express any two characteristics of objective idealism.

e A R 75 A B 2= 4
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Briefly express any two points of criticism against objective idealism. 2

Gy SRAVA wcm [l vl TG SHCT b <o |

13, State any two essential characteristics of religion. 2

4359 Ricspicar 7o) 61 (A% Sl < |

14. What is induction ? State fwo differences between deduction and induction.

2+2=4

SN FIE (AT 2 NN S e Arere 24w 767 212 T w4 |
15. “All inferences are analogical at bottom.” — Explain the significance of. this
remark. @

] APIN SNIEE, oS AT ST | — €% SRR Sles iy 4 |
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16. What is a condition ? Bfieﬂy explain positive and negative condition with the help

of suitable example. : : 1+3=4

Toeriael W 52 e SrimEeR AR SEgE < W S 2Afege A 79sels TobIe
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17. What do you mean by fallacy of mal-observation ? Distinguish between individual
mal-observation and universal mal-observation with the help of suitable example.

- 143=4
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Distinguish between fallacy of non-observation of essential instances and fallacy of

non-observation of essential circumstances with the help of suitable example. 4

@ﬂg@sEME@wavﬁw$5vmaﬂF%hr?é@a<am?mﬂfoaa*aﬁﬁvmanﬁﬁhxvM%ﬂﬁ¢$<a@§N
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Distinguish between explanatory hypothesis and descriptive hypothesis. 4

AR 25 SNl IERF 25T qers ~1e<y Haole 5 |

What is a crucial instance ? Briefly explain a crucial instance obtained by

cxperiment with the help of a suitable example. 2+2=4

B IS A1 il 7RIS W 5 2 Soe SrRges WRIwe #TesTa b A1 el 7T

e 59t iy 349 |
State rwo advantages and two disadvantages of the method of difference. 2+2=4
oI 2eareTa v5r JRd S 757 SRl Sramd 4 |
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State rwo advantages and two disadvantages of the method of residues.  2+2=4

AR ST 75 AR S 757 SRa S <

What do you mean by naive realism ? State any two differences between naive

realism and scientific realism. VA=

> Em I R Jel 2 T AT S (el UGN TS 4l [ 75
AL T 1 |
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What do you mean by naive realism ? Briefly express any two points of criticism

against this type of realism. , 2-+2=4

et QA T T e 2 @REHE A Kt RIgReIeT 5! TG HICE 2|

<41 |

N
\9]

Briefly express any four characteristics of naive realism. -

o] ATTANE Rcpic BIfE5T CAIEy BYCs Apr
Or / 7z

Briefly express any four characteristics of scientific realism. 4

el qETEAME Rl BIReT @ B z@rﬁ -4 |

73 What is habitual action ? Why is this type of action regarded as object of moral

judgement ? 2=

me%?aawwmmwmmﬁmw

=2
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24. Define the method of agreement in your own words and give a concrete example

of this method where we proceed from effect to cause. Why is this method called

pre-eminently a method of observation ? 2+2+2=6

COINR Few SEre SEh g ke Tl o OB AmerBN i Bl e Srmed Tl

TS WIfS) S A T S RS | 9B LeTIGIE f57 eTos TSI el (e 22
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Define the method of residues in your own words. Why do some logicians regard

this method as a method of deduction ? Explain. 2+4=6

o fiem o HARCE eeee kel ) fegne sffam @2 IR [

Rer=e 36 [om e i 4|

What is Berkeley’s subjective idealism ? On what grounds Berkeley has said that

primary and secondary qualities are inseparable ? a6

< RS o e SRR R g g e T PRz S 9 e
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Critically discuss objective idealism of Hegel. 6

(SoETE IR SRS AN PR SSRCGH] |

26. Briefly discuss any three of the different elements involved in the mental stage of

voluntary actions. 223=0

@%@ﬁfﬁﬂﬁiﬂﬂﬁﬁS@ﬁﬁ’%@Tﬁﬁ©ﬁf@ﬁﬁ%ﬁﬁ§§ Riczwicn foRbe R 53 Seenal
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What do you mean by non-moral actions ? Briefly explain any five non-moral

actions. a 1+5=6

wiafess a3 & guie R 20 sitafos {53 il SR |
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27. Critically explain any one of the follbwing VIEWS ! 6x1=6

fcsTe SeoTEa #A=1 Rl G5 B STRIGABARTE A< ST ¢ ‘

(i) Religion is the source of morality.

#5f targ (fesole T |

(ii) Morality is the source of religion.

(ool (Zre «3fq B |

(iti) Religion and morality are independent of each other.

3 OIS OOl AT Ao |
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